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B4 X BE (%) | I (hp) =g (°C) _ 8 (°C) 7K = (mm) &S = (em) BEE(m)
FRIOF | FHIOKF | FHIONK: | F1&8HF X =1 =& 50cm 1m AH FiE AHB FiE BB

1 = 99 924 -35 —6.1 1.5 -9.9 — — - 9.0 9.0 9.0
2 RAE 96 924 —6.2 -3.4 7.0 -9.0 — — - 0.0 9.0 0.0
3 = 99 924 -1.2 -1.2 5.2 -2.7 — — - 2.0 11.0 5.0
4 /M 99 922 3.1 2.1 5.6 1.2 — — - 0.0 11.0 0.0
5 REE 96 922 -7.9 -2.4 2.2 -8.6 — — - 2.0 13.0 2.0
6 B 98 924 -24 -1.9 5.9 -8.0 — — - 0.0 13.0 2.0
7 = 99 921 -1.2 0.8 8.4 -25 — — - 5.0 18.0 25.0
8 /i 99 921 -4.9 -2.6 0.4 -5.2 — — - 35.0 53.0 50.0
9 REE 94 922 -11.3 -4.1 1.8 -12.2 — — - 0.0 53.0 40.0
10 551 99 922 -0.4 -2.0 4.0 -25 - - - 2.0 55.0 30.0
LAFHE 97.8 922.6 -3.6 -2.1 4.2 -5.9 - - - 55 16.3
11 <{Y 92 924 -7.3 —5.1 0.1 -10.2 — — - 0.0 55.0 30.0
12 BEh 92 922 -7.0 -8.1 2.7 -12.8 — — - 0.0 55.0 40.0
13 S 95 920 -2.4 -4.0 2.7 -6.8 — — - 12.0 67.0 36.0
14 REE 95 920 -9.8 -4.8 -1.3 -11.1 — — - 1.0 68.0 30.0
15 = 99 922 -2.8 -5.5 5.4 -9.0 — — - 7.0 75.0 34.0
16 = 97 920 -7.1 -5.6 4.8 -11.5 — — - 30.0 105.0 70.0
17 [RIE 97 924 -7.6 —4.1 -25 -8.3 - - - 20.0 125.0 50.0
18 Y 90 928 -0.4 -5.1 14 -8.2 — — - 0.0 125.0 40.0
19 <HY 96 928 0.5 0.8 3.0 -35 - - - 0.0 125.0 40.0
20 %Y 92 930 -0.3 -0.4 3.3 -0.4 - - - 0.0 125.0 30.0
A EH{E 94.5 923.8 -4.4 -4.2 2.0 -8.2 — — - 7.0 40.0
21 /M 99 928 2.7 0.6 3.7 -0.9 — — - 0.0 125.0 30.0
22 Eh 99 926 1.8 1.0 3.1 -0.1 - - - 0.0 125.0 25.0
23 <Y 81 922 0.7 1.3 7.1 0.3 — — - 0.0 125.0 30.0
24 = 98 920 —6.1 -2.3 2.0 -6.4 - - - 30.0 155.0 50.0
25 3 98 922 -4.5 —6.2 -35 —6.5 — — - 90.0 245.0 110.0
26 = 99 920 -3.4 -5.1 0.0 -5.7 - - - 35.0 280.0 110.0
27 = 81 922 -0.3 -2.1 0.9 -3.9 — — - 20.0 300.0 95.0
28 ES 97 924 -1.6 -2.2 0.1 -3.6 — — - 5.0 305.0 90.0
29 Eh 95 926 -2.4 -1.9 0.1 -3.0 — — - 5.0 310.0 80.0
30 Eh 92 930 -35 -3.7 3.9 -5.4 — — - 0.0 310.0 80.0
31 & 94 930 -5.5 -3.8 9.0 —6.6 - - - 0.0 310.0 80.0
THEHE 93.9 924.5 -2.0 -2.2 2.4 -3.8 — — - 16.8 70.9
Ay 95.4 923.7 -3.3 -2.8 2.8 -5.9 - - - 10.0 433
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